

Converting Celsius and Fahrenheit (J)

Estimate or convert the temperatures.

$-21\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-57\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-39\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-41\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$85\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-84\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-86\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$97\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-40\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$9\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$30\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$36\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$96\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$46\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-16\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$39\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-93\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-48\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$-33\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$54\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$65\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-92\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$10\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-87\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$66\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-52\text{ }^{\circ}\text{C} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{F}$

$1\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-99\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-12\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

$-65\text{ }^{\circ}\text{F} = \underline{\hspace{1cm}}\text{ }^{\circ}\text{C}$

Converting Celsius and Fahrenheit (J) Answers

Estimate or convert the temperatures.

$$-21\text{ }^{\circ}\text{F} = -29.4\text{ }^{\circ}\text{C}$$

$$-57\text{ }^{\circ}\text{C} = -70.6\text{ }^{\circ}\text{F}$$

$$-39\text{ }^{\circ}\text{F} = -39.4\text{ }^{\circ}\text{C}$$

$$-41\text{ }^{\circ}\text{F} = -40.6\text{ }^{\circ}\text{C}$$

$$85\text{ }^{\circ}\text{C} = 185\text{ }^{\circ}\text{F}$$

$$-84\text{ }^{\circ}\text{F} = -64.4\text{ }^{\circ}\text{C}$$

$$-86\text{ }^{\circ}\text{C} = -122.8\text{ }^{\circ}\text{F}$$

$$97\text{ }^{\circ}\text{F} = 36.1\text{ }^{\circ}\text{C}$$

$$-40\text{ }^{\circ}\text{F} = -40\text{ }^{\circ}\text{C}$$

$$9\text{ }^{\circ}\text{F} = -12.8\text{ }^{\circ}\text{C}$$

$$30\text{ }^{\circ}\text{C} = 86\text{ }^{\circ}\text{F}$$

$$36\text{ }^{\circ}\text{C} = 96.8\text{ }^{\circ}\text{F}$$

$$96\text{ }^{\circ}\text{C} = 204.8\text{ }^{\circ}\text{F}$$

$$46\text{ }^{\circ}\text{C} = 114.8\text{ }^{\circ}\text{F}$$

$$-16\text{ }^{\circ}\text{C} = 3.2\text{ }^{\circ}\text{F}$$

$$39\text{ }^{\circ}\text{F} = 3.9\text{ }^{\circ}\text{C}$$

$$-93\text{ }^{\circ}\text{F} = -69.4\text{ }^{\circ}\text{C}$$

$$-48\text{ }^{\circ}\text{C} = -54.4\text{ }^{\circ}\text{F}$$

$$-33\text{ }^{\circ}\text{C} = -27.4\text{ }^{\circ}\text{F}$$

$$54\text{ }^{\circ}\text{F} = 12.2\text{ }^{\circ}\text{C}$$

$$65\text{ }^{\circ}\text{F} = 18.3\text{ }^{\circ}\text{C}$$

$$-92\text{ }^{\circ}\text{C} = -133.6\text{ }^{\circ}\text{F}$$

$$10\text{ }^{\circ}\text{F} = -12.2\text{ }^{\circ}\text{C}$$

$$-87\text{ }^{\circ}\text{F} = -66.1\text{ }^{\circ}\text{C}$$

$$66\text{ }^{\circ}\text{F} = 18.9\text{ }^{\circ}\text{C}$$

$$-52\text{ }^{\circ}\text{C} = -61.6\text{ }^{\circ}\text{F}$$

$$1\text{ }^{\circ}\text{F} = -17.2\text{ }^{\circ}\text{C}$$

$$-99\text{ }^{\circ}\text{F} = -72.8\text{ }^{\circ}\text{C}$$

$$-12\text{ }^{\circ}\text{F} = -24.4\text{ }^{\circ}\text{C}$$

$$-65\text{ }^{\circ}\text{F} = -53.9\text{ }^{\circ}\text{C}$$